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The figures in the margin indicate full marks

for the questions

Answer either in English or in Assamese

1. Answer any ten from the following : 1x10=10

R?fT:

(a) What is the density of population in
India according to 2011 Census?

^1%?

(b) Define sex ratio.

(a) Which age structure is important for
demographic dividend?

o1v©JK*1-1
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( 2 )

(d) Which neighboTiring country of India
has the lowest unemployment rate?
v»Hv©^

(e) What is human capital?

(f) Write one limitation of new industrial
policy.

%nw5T 1^ I

(g) Mention one factor responsible to
increase savings and investment in
India.

xsTWfl Rtol^r ̂  *£|i5T
I

(h) Give one characteristic of India's age
composition.

(i) What is the MRTP Act?
MRTP^5[f^i%?

(j) Mention one health care scheme
inroduced in India.

<p'^l *11^

^ 1

(k) Write one important structural change
arising out of economic development in
India.

#r«IT I
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( 3 )

(I) Mention one factor responsible for

regional disparity in India.

v»Hv5\o ^

^ I

(m) Which sector contributes maximum to

the GDP of India?

(n) Write one factor responsible for the
environmental degradation in India.

STS#© ̂  ̂

I

(o) What is relative poverty?

tRirvoi 1% ?

(p) Write one important measure to stop
natural growth rate of population.

Rrt I

(q) Give one demographic feature of

Vietnam.

(r) Mention one criticism of economic
reforms.
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2. Answer any five from the following : 2x5=10

voeqvs %1T :

(a) What is NITI Aayog?

NITI Aayog 1% ?

(b) Define sustainable development.

(c) What is poverty line?

(d) Write the components of human
development index.

(e) Mention two reasons of educated
unemployment in India.

\5H5^ RRpv® Pi<l^sqh I

(f) Point out two important causes

responsible for increasing inequality in

India.

^ I

(g) What is meant about the rural-urban
population composition in India?

(h) Mention two schemes for elementary
education in India.

I
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( 5 )

(i) What are the initiatives recently taken
by government to enhance skill among
workers?

Tsif^ W5T ̂  ^
■31W5 C»IM ?

0) Why were economic reforms introduced
in India?

3. Answer any four from the following : 5x4=20

v55i^ %IT:

(a) What are the major demographic issues
in India?

X51^\5^ "Sf-ivsiFg^p TppniCTR 1% 1% ?

(b) Write a note on malnutrition in rural
areas of India.

v5H^ sm >8^ ^ ^ I

(c) Explain the nature of unemployment
problem in India.
^14^ <p^l I

(d) Explain the relationship between
population growth and economic
development in the context of Indian
economy.

"4®!^ w I
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( 6 )

(e) Discuss briefly the poverty alleviation
programme introduced in India during
the planning period.

(f) What are the main features of the
Mahatma Gandhi National Rural

Employment Guarantee Act (MGNREGA)?

(MGNREGA) ̂ ̂  1^ 1% ?

(g) Explain the role of institution towards
attaining economic development of a
coimtiy like India.

OT*r5 ^5}^ <pR<lC«^

(h) Briefly discuss the new education policy
introduced in India.

4. Answer any four questions from the
following : 10x4=40

^551^ C^TM :

(a) What is demographic dividend? Discuss
the problems faced by India to realize
the demographic dividend.

1%? 4TW5
9fj^cp5 WUICTR

I
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( 7 )

(b) Discuss the main features of Indian

economy at the time of Independence.

I

(c) Explain the current state of primary
health facilities in India.

^

^ I

(d) Describe the trend of poverty in India in

the Post-Reform Period.

"TOH ^

R<1C^ I

(e) Give an assessment of Indian

population in terms of quality.

^51^ Ws^ ̂  "fm
Wl

(f) Explain the causes and consequences of
unemployment problem in India.

WUR ^ iMPRR

(g) Discuss the growth of Indian economy
during the Reform Period.

"siWeRT® R^prr

I
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( 8 )

(h) What was the Great Leap Forward
programme? Explain the impact of
Great Leap Forward programme on
Chinese economy.

^<#1^

(i) What were the major structural changes
that were brought about by the
liberalization of the Indian economy in

the 1990s?

v5R^ ^01^

0) Give a comparative study of India,
China and Pakistan with respect to

sectorwise contribution to GDP and

human development index value.

v£j^ ^WT w I
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